Aadd e 7] %: Homework 3 for Problem Solving (Due: 4/15 (7))

Problem 1. (20)
t}2-2o] Grammar o t) Fo] SLR(1) parser & TF=2 37 Skc}.
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(a) LR(0) 2] start state & Tr53L A 9} B 2] Follow() set & F3}o] SLR(1) grammar 7} S 2
o544 2. (5)

(b) 919) grammar 7} LR(1) 21742 891 5441 2. (5)

( ) Shift-Reduce Parsing ol] A ¢l left-recursive UP grammar 7} 2] 8+ 7}& A Y 3A] 2 (Hint: ¢
£ recognize S} right-recursive grammar & ] 3Fo] Shift/Reduce Parsing & & 7 -5 A 73
HA| Q. Thek 4= 1l ‘:’}7]]./] ¢ 2 7749 input < parsing 3= F % o™ do] A7 = 717 ). (5)
(d) ¢ «] productlon S SLR(1) grammar 7} & A dte&ld A 9} B2 production & o] 9] v}3L9o]
of 3t =717 o) AT (5)

Problem 2. (30)
72l Al 7kl thE dangling-else A & 712 thg-2] ambiguous grammar G ©f o] 8l ©sFA] 2
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(a) LR(1) DFA & YHE 7 start state 24%-F breath-first oA 2 U d 1A 2 (5).

(b) State & merge 3] LALR(1) DFA & Yt=A] 2. (5).

(¢) 91¢] LR(1) DFA ¢} LALR(1) DFA o] 4 S i EtS- 9§ =1 Et S -e S ohe
state £ zhol 3 I parsing table row & TF=A] Q. (5)

( 9] LALR(1) parsing table row o] A conflict & 7}%] entry ol t}] 3} dangling else 7} inner-
most if o] bound ¥ =5 action & A ¥ A2 (5 )

(e) (d) ol A outermost if ol bound ¥ =5 action & A& 3}5 o] F-¢ G 2] language & At =
parse 3FA|] 32 o & E9] HolAl L (5).

(f) (e) ¢] A8 & LR(1) parsing table o] & 8% 7 ¢ &u}lE G 9] language & parse d}+=A] &9l
SFaL A kA L (5).
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